Equations Linéaires (E)

T+

(—8) = —12
_ig:—l
4=0
(—5) = —8
+(-8) =5

Trouvez la valeur de chaque variable.

6_5_222 11._13— = —16
7.§+1:10 12 _lS— =5
3 8—%:10 13.9—|—_i7:3
0,72 =3 42— (-2)=6
10. —6+_18=—13 15.§+3:—6
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Equations Linéaires (E) Solutions

1.

Trouvez la valeur de chaque variable.

%4—(—8):—12 6_5_222 11.%—8:—16
c=—12 b=27 x=24
4 b Vo A
2.7—|—_9— 1 7§_|_1:10 12._—5—3— 5
Z o y C
3.5—4—0 8. 8—= =10 13.94+—=3
z=12 y=—12 c=42
a B z u
a=—24 7 =136 u=32
Y _ X a
5 _—2+(—8>——5 10. —6+—8:—13 15 §+3=—6
y=—06 x=56 a=—45
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